Potencias de 10 (G)

9,583 =100

7,731 = 100

6,804 =100

6,194 =100

5,673 =100

7,839 =100

6,901 =100

7,836+ 100

7,335+ 100

7,302 =100

Calcule los siguientes cocientes.

4,498 = 100

1,444 + 100

7,198 =100

4,36 =100

4,825+ 100

4,609 = 100

8,48 = 100

6,695 =100

5,353 = 100

8,9-+100
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Potencias de 10 (G) Respuestas

9,583+ 100
0,09583
7,731+ 100
0,07731
6,804 = 100
0,06804
6,194+ 100
0,06194
5,673+ 100
0,05673
7,839+ 100
0,07839
6,901 + 100
0,06901
7,836+ 100
0,07836
7,335+ 100
0,07335
7,302+ 100
0,07302

Calcule los siguientes cocientes.

4,498 = 100
0,04498
1,444 =100
0,01444
7,198 = 100
0,07198
4,36+ 100
0,0436
4,825 100
0,04825
4,609 = 100
0,04609
8,48 + 100
0,0848
6,695+ 100
0,06695
5,353+ 100
0,05353
8,9 100
0,089
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